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R2.3.3 R2.33 [H=—L4%X SEE L =JIET RHEEY (<4.5) | BEEY(<4. 0) |FHIFE
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R2.3.3 R2.33 [H/ HirE FEE BT (<38.3) | BEEY(L3.1) [EEEE: HI-EER
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R2.1.21 R2.1.23 [H=—L%X SEE L =JIET RHET (<4.6) | BHEETF (4. 1) |[FEHFKIE

R2.1.21 R2.1.23 [B3F EEE 3hd RHEEY(<3.9) | BEEY(L4.8) |TEHFKE

R2.1.21 R2.1.23 [#¥ sEE FHEH RHET (<4.9) [ BHBT (5. 6) |[FEHFKIE

R2.1.21 R2.1.23 [H/© HETE TEE RHEEY(<3.6) | BEEY (4. 1) [EREE . HiI-BEH
R2.1.21 R2.1.23 (754 HErE FEE REEY (<4.2) | BEEY(L3.9) BEEEE . HI-EER
R1.12.17 | R1.12.17 [F5ShAE EEE TEH RHEEY (<4. 3) | BEEY (5. 0) |FHFE
R1.12.17 | R1.1217 [z sEE FHETH RHET (<4. 1) [ BHETF (<4, 4) [FEHFIE
R1.12.17 | R1.12.17 [K#HE/NE EEE FEHETH RHEEY (<4.5) | BEEY(<4.5) |TBHFE
R1.12.17 | R1.12.17 |[J\DE& SEE FHEH RHE3 (<3.8) [ BT (<4. 5) [FEHFKIE
R1.1217 | R1.1217 [4F%& HETE FEE REET (<4. 2) | BEEY(<L4. 4) [EREE . HiI-BEH
R1.12.17 | R1.12.17 [=H/N HiE TEHEE BREEY (<4.4) | BEEY(<4.0) EEEE . HI-EER
R1.11.13 | R1.11.13 [4%L E e FHETH RHET (1. 6) | B3 (<L1.6) [EIADEEM HFRE
R1.11.13 | R1.11.13 [4El EE FHETH RHET (1. 4) | BEE3(£1.5) [RIDOEEM FRE
R1.11.13 | R1.11.13 [4%L E e FEETH BEtT (<£0.92) BmHE#T(<1.3) |REDEEM HFKRE
R1.11.12 [ R1.11.12 [FAyaly— sEE FHEH BHET (4. 2) | BHET (<4, 4) |EHFIE




52 | R1.11.12 | R1.11.12 [fa&¥ sEE BEARHT RHET (<4. 7) | BHETF(<4. 6) |FEHIFKIE

51 | R1.11.12 | R1.11.12 [&2FEWE EEE Fa=H REEY (<4. 1) | BEEY (3. 6) |EHFE
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